CHAPTER 20-2 BRITAIN LEADS THE WAY

BRITAIN-1st NATION TO INDUSTRIALIZE-Why?

KEY FACTORS
1. RESOURCES
Natural Resources
   -Britain had an abundant supply of 

   *coal to power steam engines


   *iron to build machines

Human Resources-
   -had the labor force necessary to industrialize

   *large numbers of workers were needed to 



  -work in mines to get the coal and iron needed to  

              build the factories and run the machines



  -2nd agricultural revolution(population boom



(many lost their jobs on the farm(looking for work




(people were living longer
2. NEW TECHNOLOGY
-technology was an important part of the

   Industrial Revolution but it did not cause it

-other conditions necessary for technology
   ( industrialization

     a. demand

     b. capital

3. ECONOMIC CONDITIONS

-trade from growing overseas empire

(British economy prospered (business class accumulated Capital

    -wealth to invest in enterprises like 
             


*shipping

*mines







*rr



*factories

-they were willing to risk 

  capital in new ventures

-the pop. boom & eco. prosperity  

   increased the demand for goods

(helped make new consumer   

    goods affordable to all social 
    classes
POLITICAL & SOCIAL CONDITIONS
-Br. had a stable govt which   

  supported eco growth
-built strong navy to protect 
  its empire & overseas trade
-religion played a role since 
  most entrepreneurs were  

  religious ppl & encouraged 
  hard work
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